
ĪňŗĴŅȮ: ĽŜŅĬńĔĚŅĬĽĩŇĨŇŐľƞĚĝŅĨŇ

ŔűŽřŭťŪŚŰ 15 œŭ ĺŮƔőŸœ

9,481,800 ļő (100 %)

ŔűŽŸřżťŚűżŷőĹƁŪŝũĿŵśĿŪő

3,261,000 ļő 

(34.39%)

ĹƁŪŝũĿŵśĿĿŪőśşř

6,220,700 ļő 

(65.61 %)

ťũōśŪĹŪśşżŪĿĿŪő =1.94%

ĹƁŪŝũĿŵśĿĿŪőŏŭƓśť

ŜŌűĹŪŝ

14,300 ļő (0.15%)

ĹƁŪŝũĿŵśĿĿŪőœũŀŀŰŒũő

6,206,500 ļő 

(65.46 %)

ŔűŽřŭĿŪőŏƁŪ

6,086,100 ļő

(64.19 %)

ŔűŽşżŪĿĿŪő

120,400 ļő (1.27 %)

ŴśŭŚőţőũĿŢůť

722,300 ļő (7.62 %)

ŏƁŪĿŪőŒŽŪő

867,700 ļő 

(9.15%)

ťůƓőź

1,671,100 ļő 

(17.62%)
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3,ȮħŇěŇĪńĸ30ȮŀńĨĶŅ
ĶƟŀĵĸŃȮ5,20

/,ȮĔŅĶŐĮĶĶŌĮŀŅľŅĶȮ/6.ȮŀńĨĶŅ
ĶƟŀĵĸŃȮ03,46

0,ȮŀŇŏĸŖĔĪĶŀĬŇĔĽƢŀńěĜĶŇĵŃȮ/15ȮŀńĨĶŅȮȮȮȮȮȮȮȮȮȮ
ĶƟŀĵĸŃȮ/7,32 1,ȮĔŅĶĪƞŀĚŏĪňŗĵĺĔĸŋƞĴĶŅĵœħƟħňȮŐĸŃĔŅĶĪƞŀĚŏĪňŗĵĺŏĝŇĚĽŋĕĳŅıȮ

//.ȮŀńĨĶŅȮĶƟŀĵĸŃȮ/3,47

2,ȮĔŅĶĭŇĬŐĸŃőĸěŇĽĨŇĔĽƢ//6ȮŀńĨĶŅ
ĶƟŀĵĸŃȮ/4,61
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